
Thursday 11th June 2020 – Maths - Answers 

1. Complete the sequence: 
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b) 0.3, 0.4, 0.6 , 0.8 , 1 , 1.2 , 1.4 , 1.6 
2. Answer these fractions questions: 

a) 
3

4
 + 

3

4
 = 1 

2

4
 

b) 
5

7
 of the week was sunny. What fraction wasn’t sunny? 

2

7
 

3. In your books, draw me a shape that shows: 
Challenge: Can you draw an equivalent fraction?  

a) 
3

8
   

b) 
6

12
 

4. What fraction of the square is shaded? 
2

8
  or 

1

4
 

 
 
Here is a chocolate bar: 

  
William eats 3 pieces and Amber eats 2 pieces. 
What fraction of the chocolate bar remains? 

3

8
 

 


